JE1ES

LIVING SPACES

MARTINIQUE OUTDOOR LOUNGE CHAIR
16C067A-KD

Assembly Instruction

Parts List:
REF. PART NAME PART IMAGE Q TY | REF. PART NAME PART IMAGE Q' TY
I e
A Back ;] Lﬁ 1 E Lock " 2
: 5 Washer(1/4")
B Seat 1 F Washer(1/4") 6
C | Bolt(1/4™15MM) o 4 G | Allen Wrench 1
D | Bolt(1/4"*45MM) k —~ 2

Diagram:




